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Copy and complete each problem below. Set your working out clearly as you have been shown.
Round to 2 d.p.

1] 782+ 4 = 2] 888+ 3 = 3] 956 + 5 =
[4] 470 + 5 = [5] 592 +5 = 6] 625+ 6 =
(7] 697 + 11 = 8] 777 + 4 = [9] 835 + 4 =
[10] 391 + 6 = [11] 494 + 3 = [12] 587 + 4 =
[13] 559 + 12 = [14] 628 + 5 = [15] 729 + 4 =

[16] 945 + 7 = [17] 1004 + 3 = [18] 1095 + 4 =



ANSWERS

Division
Copy and complete each problem below. Set your working out clearly as you have been shown.
Round to 2 d.p.

[1] 782+ 4 =
[4] 470 + 5 =
[71 697 + 11
[10] 391 + 6 =
[13] 559 + 12
[16] 945 + 7 =

195.50

94.00

63.36

65.17

46.58

135.00

[2] 888 + 3 =

296.00
[5] 592 +5 =

118.40
[8 777 + 4 =

194.25
[11] 494 + 3 =

164.67
[14] 628 + 5 =

125.60
[17] 1004 = 3 =

334.67

[3] 956 + 5 =

191.20
[6] 625+ 6 =

104.17
[9] 835+ 4 =

208.75
[12] 587 + 4 =

146.75
[15] 729 + 4 =

182.25
[18] 1095 + 4 =

273.75



